Population Ecology Graphs  
Graph 1  
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2. What kind of population curve does the graph show? 
Exponential

3. What is likely the carrying capacity of this graph? 

1000
4. Between which days is the population growth rate the fastest?
Days
3-5
Graph 2

5. What is represented by the vertical blue bars on this graph?
Population increase
[image: image1.emf]
6. Between what years did the world’s population double?

1750’s-1930’s, 1930’s-1980’s
7.  Which decade had the highest annual population increase?
1990’s
8. Is the rate of human population growth increasing?

no
Graph 3
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8. Approximately, what % of the type II species survive for 50%
of their maximum life span?

Less than 10%
9. At 50% of max life span, how does survivorship fro Type I compare

with Type III? 

Nearly 1000 times as great
10. Which species have most individuals reach max life span? 

Type 1
11. Which species exhibit a curve where individuals are no more
likely to dies at one stage of the life cycle than another?

Type II
12. Which organism best represents an R-selective species? Why? 
Type III, most individuals born die early in life
Graph 4 
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The graphs show the growth of 2 species of paramecium grown in a laboratory. It shows their growth rate when grown separately and together.
13. Why don't the paramecium species continue to 

exponentially grow when grown separately?                         

Competition for food and space
14. Why is the growth rate different when they are 

grown together? 
Competition for food and space
15. Why does the population level off for P. aurelia 

when in the mixed culture? 
Better able to out complete but
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Graph 5 

16. What do you observe about the relative timing of the peaks in lynx numbers and hare numbers?
When hare numbers increase, Lynx have more food so their numbers will increase.  When rabbit numbers drop, lynx numbers drop
17. Which population controls the other?
rabbit
Graph 6
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18. Looking at the data in the figure above from the hare/lynx experiment, what conclusions can you draw?
Lynx and food determine the carrying capacity of the rabbit population
Graph 7
Cor Dijkstra and colleagues in the Netherlands studied the effects of parental caregiving in Eurasian kestrels over five years. The researchers transferred chicks among nests to produce reduced broods (three or four chicks), normal broods (five or six), and enlarged broods (seven or eight). They then measured the percentage of male and female parent birds that survived the following winter. (Both males and females provide care for chicks.)

The lower survival rates of kestrels with larger broods indicate that caring for more offspring negatively affects survival of the parents.
19. The males of some bird species provide no parental care. 
If this were true for the Eurasian kestrel, how would the 
experimental results differ from those shown?
Parent kestrals would have higher survival rates reguardless 
Of brood size
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Graph 8
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20. Looking at the data in the figure above, what can be said about survival and clutch size?

The larger the average clutch size the lower the chance of survival
21. What can be said about clutch size and the density of females?
The higher the density of females in an area the lower the average clutch size
Graph 9

The following question refers to the figure below, which depicts the age structure of three populations.
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22. Which population appears to be stable?
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Graph 10
23. Which line represents the population with the

highest per-capita growth rate?

A
Graph 11
24. The graph shows the growth of a laboratory culture of 
Paramecium aurelia. Suppose that after 15 days, the researcher 
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removed ~400 paramecia from the culture. How will the 
population growth rate (dN/dt) change as a result of this action?
Population will again grow exponentially until nearing K
